510™ =
o -4 =
g 2
— Ll - (o]
= |l ©
) L <
151 § : : | H ©
TR o STCIHCIIRE 1074
L
I Tl s
; |
107 i
ul g 1072
N1 R e LA )
O J..UJ_ ] 9 1.U0
T r i T
[vd C 24
J._ J._
0058 i i i i 005 i i i i i
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
— n - —Global_CMSSW_X_Y_Z__allNODNNZ
—— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z _all2
—— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z__
—— DQM_V0001_R000000001__Global _CMSSW_X_Y_Z

= —~
= S
) G
2 e
= =
< -
2 o
=2 o
3 ©

oloa%||||I||||I||||I||||I||||I|||| oloa%""I""I""I""I""I""
5 s
o L o [
02372 1 o0 1 2 3 02321 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

=

owp./p,)

Ratio

2 -1 0 1 2 3
TP n (PCA to beamline)

T



	Contents
	Page 1


